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(i) The maximum marks printed or the guesiion paper
are applicable for the students of the SOL (Car B
These marks will. however. be scaled down propor-
tionately in respect of the students of regular colleges
at the tite of posting of awards for compilation of

resuft,

Attempt 4!/ questions.
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Disiinguish between any one of the t‘olimving.: '
Frofefen § & frdt T § %0 T S
(i Truth and Validity

a3 dva
(if}  Sentence.and Propusition

A T ey
Explain and illustrate the agreement and disagreeinent in

attitude, 5
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Write short notes on any one of the following 4
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(7 False Cause
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(i) Petitio Principii
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Identify and explain any owe fallacy : 4
fadt T W %—1; TEETAHT mﬁm
FITAC ¢
(i But can you doubt that air has weight when )'ou.

have the clear tesiimony of Aristotle aftirming that

al! elements have weight including air, and

excepting only fire.
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(i) Aspirin relieves pain since it is’ analgesic.

Reduce the following propositions into their standard torm

and give their contrapositive (any /wo) : 6

Frefafias For B AT STER § SCert S

yfa-afeed #ifse (1 20

(i)  Only the intelligent will prosper.
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(."i:) A !‘gu_v doctors are registered.

X 'é‘r_-gTa'c*»: AT 2 R
(iif) Not all roses are redj

W T T a
erte.:«; short note on the fol!_cnffi;'ag (any one) : .3
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(/)  Disjunctive Syllogism

(i} Dilemima

HECH
If “No politicians ave honest” is true. what can be
inferred about the tuth and falsity of the following
4
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(d Some non-honest’ beings are not non-
“politicians.
e HA-IAFACR Al .amﬁf%ia T8
g
(if) All honest beings are paoliticians.

(@) ~Us¢ Venn diagram technique to determine the validity/

t

invaltdity of the following (any one) !

() 1Al4

(ii) ARE-1
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(i) -AEE-

~ Arrange the following syllogism into standard form. name

its figure, mond and test its validity {(any one) : 6
frefafan i R o afes  oiER |
FEfeT, TR O aul ARETG SAAsY qWm AU Rt
wg Hifvr (FE &)

() Some writers are artists because all artists are

sensitive people and some writers are Sensitive
peaple,
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(i} Al proteins are organic compounds: hence all
enzyines are proteins, as afl enzymes are organic

cumpounds.
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{ar) . Symbetize the .foiiowing {any rhree)
. Tr=fafas =i H@Fﬁﬁﬁ?f@ﬂ (Hig )
(i} Unless it trains in time, harvest will not be good.
" {#) You will win a prize its and only if you come
first,
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(iii) A'i‘he.: police are not guilly, but they are hard-
working'.' _
g e & &, wg 3 uferd §

() A and B will not be victorious.
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Use truth tables to determine the following statement
forms as tautulogous, self-contradictory and contingent

{any one} : 4
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(¢) Using truth table method determing the validityf'invalidity

of the following (any one) : | 4
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